[ Efficiency vs vertpos |
~0.05

$.045
2
20.04
(&)
$.035
O
£0.03
0.025
0.02
0.015
0.0
0.005

s

U AN LR R AN AR LS LRRRN RRRRN LARRN LELLE RRRA

1.0

Ratio

0.95L : :
1072 10 1

10 0?
TP vertr (cr%)

—=— DQM_TT__ORIGINAL
Efficiend —— poM_TT_ MODIFIED_layerProcv2_PRVersion

............................................

...............................

............................

s L

=30 -20 -10 0 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~0.05 X T
= 5 5 5 5 5 5
00.045F+reiemrrivennes R R
S : : : : :
R A B
B.035F--r- i e Fremerdeeeee R Peeee
P : : : : : :
£0.03F -+ Fromeieeee e e Fererieeeed I B
2 : : : :
9.025
]
0.02F -+ -heeenni :
0.015fF++-i-f4F - SRR
0.01F - RTE ++ -----
YU I S S S S WAL B

Jo| PN P | PP PP PP PP P P I

FRVS)

Ratio

P S

1

0515510 -5 0 5 10 15 20

Sim. PV z (cm)




	Contents
	Page 1


